[ Efficiency vs vertpos |
= 0.1
£ 0.09
g
5.0.08
2
© 0.07,
L
$0.06
0.05
0.04

.................................................
................................................
..............................

..............................

0.03
0.02
oot -1

1.0

Ratio

}—II

-+

0.950 : :
1072 107 1

10 0?
TP vertr (cn%)

—=— DQM_original_originalvector_1000evt

— —e— DQM_original_1000evt
Efficiend . pom fitted4_1000evt

~ 0.2 ; ; ; ; ;
LB S R S o
* F : : : : :
20.16------ SRR S AR Sl R AR
> : : : : :
2 N P i
,0_)0'14: : : : : H
§0.12:—" A B S AR Sl R
o F : : : : :
O | R I B 5
e SRS v 0
0.06 ; '

0.04filHHt-H|-gal -k U
S 4 0 L A ||
0.02 1+ %] ;'+*;*;-'.'---':"";+##'
JESPRY: UPUE Y S PR U S
3 : ;
o "
1 g:nm n. e

0935 =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>
00.045
£
50.04
$.035]
2
50.03
§.025
[J]
0.02
0.015
0.0
0.005)

.U

Ratio
D
Trrr _I TTT

T
H
+
H

T o g g 2 b i

095515 -10 5 0 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


